Question Paper Title : TI_29

Date of Exam : 22-07-2019 10:00 AM

Reference 1D:(10970)

Answer:

Reference 1D:(10958)

Answer:

Reference ID:(10973)

Answer:

Choose the most suitable conjunction for the given sentence:

It was a very long day | was tired by the end of it.

A.so
B.and
C.but

D.thereafter

B.and

Fill in the blank with the correct noun for the given sentence:

used to think that emotions affected a person’s

A.Scientists ... rationality
B.Environmentalists ... ration
C.Activists ... rationalization

D.People ... rationalizing

A.Scientists ... rationality

Choose the correct form of verb that is in agreement with the subject:

Don't you enjoy television?

A.to watch
B.watching
C.to watching

D.watch

B.watching



Reference 1D:(11223)

Answer:

Reference 1D:(10988)

Answer:

Reference 1D:(10964)

Answer:

Reference 1D:(10966)

UTHT U] YRNE DT T g Freial FaTeidh HIvT 3fga?

A ST, R IR

B.9}. FHx Mdha g

C. 3. 31ford FHR Higdt

D EF. ISIT U

C. 3. 31ford AR Higdt

Choose the correct form of verbs for the given sentence:

Lakshmi and Pankajam friends ever since school days

A.are, their
B.is, their
C.are, her

D.was, their

A.are, their

Which of the following options best combines the two given sentences?

He is a cripple. He cannot ride a horse.

A.Crippling, he cannot ride a horse.
B.He is crippling because he cannot ride a horse.
C.He cannot ride a horse he is a cripple.

D.Being a cripple, he cannot ride a horse.



Answer:

Reference 1D:(11247)

Answer:

Reference 1D:(11216)

Answer:

Reference 1D:(10991)

Answer:

Reference 1D:(11228)

D.Being a cripple, he cannot ride a horse.

B 310 C UehT SIdcT dadd U [ARIY HTH B ddeld dd Thedl A

SRTL. SR A 301 B It & &9 10 feadid o 3:”d 31fo1 T ¢ 7 50
feagid &d 39, IR Tdhel B d fdl fiadid &= Iwhar:

A.15 fgaq
B.20 faaw
C.25 faq
D.30 a9

c.25feag

T&TaU! 0T Bldh! WesTg~ 2018 HED 3o REBR il gIaT?
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B.%. 6! WRAIEd
C.41. St g
D.%. ol HIiea

A Fdia

e SRT Oy gt fRaar.
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A RTeSN 3ol
B.IHIIAT 3
C.HIAyIRT 3
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A.5/36
B.1/8
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D.13/36

Answer: C.V4

Reference ID:(10982)  Udld sard fofil sfies.
CE3

D.IHICHT

Answer: D .Y

Reference ID:(11239) R SIft v W FagH @ quf &
8, 10, 24, 78, 320, , 9672

A.740
B.1610
C.1600

D.1440

Answer: B.1610

Reference ID:(11248) A BT B U GUCH STelg T dl. SR B WaAgul 12 faawid & gul #vd
3T, TR A STI0T B TH AT favcl! fgawid o &1 Il & Qdhdia?

A4 feag
B.6 faa
C.8 faay
D.18 feaq

Answer: A4 feag



Reference 1D:(11208)

Answer:

Reference ID:(10968)

Answer:

Reference 1D:(11219)

Answer:

Reference 1D:(11229)

BATCH FRraToh HegRTodT o WIeierid! Hiora ayf ar?

A.1676
B.1677
C.1678

D.1680

D.1680

Choose the appropriate prepositions for the sentence given.

They go from one studio another hoping to obtain a role
some film.

A.to, form
B.to, in
C.from, to

D.to, from

B.to, in

AT GR&M ST SRIATAT UicTg SUaTTe! YRAMHERd Jraierdd!
DI AT HARII fegor fIRT THe SIS bei?

A TERTY
B.3W Uy
C.HE U

D.fagR

AWERTY

52 BTSN ANTIHR IR TE! Haled] SHHYH, TRBHUL Uh HIe Hled
A AN c o .
SITd. HTedd HIS [hear AU U BT 3?2

A.1/52

B.13/52

C.4/52

D.26/2



Answer:

Reference 1D:(11225)

Answer:

Reference 1D:(11250)

Answer:

Reference 1D:(11235)

Answer:

Reference 1D:(11241)

B.13/52

WTeierdes! Il aRT AT GaT Jafd Saesdl dRT 38?2

A. 3T He!
B.gcRgell

C.9al&H dRI

D. %W fdaR

A.3HT T

QT fciedT SRaaaed et U a1y »H fde 3iie. AHR hidm HH
3{le:

2,6, 13, 26, 54, 100, 197

A.26
B.100
C.54

D.197

C.54

WTATd U § WTa feeiedr Ure e Sic! TaiaR SeTd 3iig:
526 346 937 593 853

&, SRMUBR TIR JTeiel! gas! Jaid A3 & BT SAA?

A.491
B.751
C.835

D.424

B.751
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Answer:

Reference ID:(10965)

Answer:

Reference ID:(10957)

Answer:

Reference 1D:(10997)

A.335

B.270

C.400

D.362

A.335

Choose the most suitable determiner for the given sentence:

Because his argument was so confusing, people understood it.

A.few
B.lots
C.less

D.many

A.few

Choose the correct form of adjective for the given sentence:

He often appears not to care about his work, but appearance can be

A.cunning
B.insincere
C.deceitful

D.deceptive

D.deceptive

geid drerdie farmfrg sficwr.

dHhed IFId @R Aradlad; YUl GHECHHI0 b cq MU ST b
ERGACSGIGH

ATgeg

B.IgNTfg



Answer:

Reference 1D:(10992)

Answer:

Reference 1D:(10962)

Answer:

Reference 1D:(10960)

Answer:

C. 3R

C. 3R

Ui ardid YRR ol UdhR i,
A SHIAT 3y

B.hdIydRIT 3oy

C.feramanfarivur sy

D RTeGUNT 3

C.forarafaxiyor sty

Choose the appropriate articles for the given sentence:

tribal people of some parts of Madhya Pradesh practise
unique subculture which is beauty of multiculturalism of India.
A.A, a, the
B.The, a, a
C.The, a, the

D.The, a, an

C.The, a, the

Choose the option with the appropriate suffix to complete the given
sentence

Lack of presence of mind will cause absurd in all the cases.

A.-tive
B.-ity
C.-tion

D.-sion

B.-ity



Reference ID:(10999)  Tpdl' AT ReqTdiid SURRIT S1&RT T qUREAT HIOKT?

AT+H+3
B.+F+3
C.+p+31

D.q+3+

Answer: B.J+p+3

Reference ID:(10967) Choose the correct form of modal auxiliary verb for the given sentence:

Nobody leave the class without my permission.

A.may
B.will
C.should

D.might

Answer: C.should

Reference ID:(10985)  araiasitd e arey 3fesr.

A SITRTIAT 3RT JIIT0 GG il

B. SITRIAd $RT YUl Yesqadd Bl

C. SITRTAAT IRT &dYUl deddesd gidl.

D SITRIAT SRT G0l YUreund gidl.

Answer: A SITRIAA IRT &IU0 @S il

Reference ID:(10971) Choose the appropriate conjunction for the given sentence:

He resigned his job escape dismissal.

A.in spite

B.in order to



Answer:

Reference 1D:(11234)

Answer:

Reference 1D:(10955)

C.because

D.but

B.in order to

TTeh fededn IR Uaites! SHIuTdT U W@ielt fdiedT Uit U Jeod
ATEN?

Fook Hai Building, 150 South Bridge Road,

Singapore 058727

+65 6438 8880

(i) Fook Hai Building, 150 South Bridge Road,
Singapore 058727

+65 6438 8880

(il) Fook Hai Building, 150 South Bridge Road,
Singapore 058727

+65 6438 8880

(iiif) Fook Haii Building, 150 South Brjidge Road,
Singapore 058727

+65 6348 8880

(iv) Fook Hai Building, 150 South Bridge Road,
Singapore 058727

+65 6438 8880

B.ii
C.iii

D.iv

C.iii

Choose the appropriate option with the correct punctuation marks for the
given sentence:

The team leader exclaimed hurray we won the first prize

A.The team leader exclaimed, “Hurray! We won the first prize!”
B.The team leader exclaimed, hurray we won the first prize.
C.The, team leader exclaimed, "Hurray we won the first prize.”

D.The team leader exclaimed: “Hurray we won the first prize.”



Answer:

Reference 1D:(10972)

Answer:

Reference I1D:(10961)

Answer:

Reference 1D:(10986)

Answer:

Reference ID:(10977)

A.The team leader exclaimed, “Hurray! We won the first prize!”

Choose the most appropriate usage to fill in the blank in the given sentence:

An organization wants of its employees.

A.loyal
B.loyalty
C.lawfulness

D.loyally

C.lawfulness

Choose the option with the appropriate suffix to complete the given
sentence:

My sister-in-law is very talka even with strangers.

A.-ity
B.- tive
C.-ile

D.—sion

B.- tive

A STl
B. Al

C.3{ddRI
D.fopamuar

D.foamar

Wedhl IS AHd Wb AT Ve AT TIY

AFa!



Answer:

Reference 1D:(11214)

Answer:

Reference 1D:(11205)

Answer:

Reference 1D:(11217)

Answer:

Reference 1D:(11207)

B.HIAS]
C.HI8U

D.had

C.Hi8u
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Answer:

Reference 1D:(11233)

Answer:

Reference ID:(10987)

Answer:

Reference 1D:(11000)

Answer:

A8 HATAY
B.THIU fAeh Y HaATerd

C .18l fadbry HaTerd

D. A G1e fdehre Harerd

D. A4l T4 fowr \@araa

8 IuIYdl Yy ag rear JaTedl 94Tl 4 Ue §id. 8 auiHaR UYd au arl
Tl 9O gUe 3rd. d) UYd 9erd o fdal?

A.30 99
B.35 a4
C.40 a9
D.45 Y

C.40dY

fedcT PresTd URad- HRuarIe! 9y yay fHaeT,
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Aad gIdl
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D.ddd 318
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Reference 1D:(11249)

Answer:

Reference 1D:(11226)

Answer:

Reference 1D:(10994)

Answer:

Reference 1D:(11212)

Answer:

3TN 1 TSI 311G, 3ededTal faad gUdR 3MTg. § Y ay 318, 3 W= I
fea=ht seasarn Hivar feay sra?

ARMAR
B.XfdaR
C.gHaR

D.HIBdR

ARMAR

SfeFa aroft JRuaT=n ufdhaan 3{¥ FUTTd.
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B. U1 1o gAHROT

C.JIuil QRaaT
DTSt §I0I

A.f3Rgur

Yeid draiaeiid fa=ivor sfiesar.
fie PTeog uSdr gidl, 3! oRl Uliell degl

A
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C.3MT!
D.degT
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A TS /g HERTS AlSiT

B.3TGRITIG Ao
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D.Sl. JIENITed fidSH Yl Wradia- doHT

D.Sl. JIENITed fidSH Yl Wradia- doHT



Reference ID:(10956) Choose the correct form of adjective for the given sentence:

Of the young director's two movies, the second one is

A.better
B.good
C.best

D.worst

Answer: A.better

Reference ID:(10953) Choose the option that has the correct spelling for the missing word in the
given sentence:

The cat scratched me with its

A.claw
B.claaw
C.cluws

D.clows

Answer: A.claw

Reference ID:(11221) a3 A&l 2019 REGRIAL, SRMAENT "STH UG HRUIR Io4-36.3 T
o R d HRUTTd 3T,

A 18

B.HERTY
C.FAlch

D.feA=d Uew

Answer: B.HE'RTQ

Reference ID:(10996)  Ydld AreIiHe T1Y o 3o T,



Answer:

Reference 1D:(10974)

Answer:

Reference 1D:(11230)

Answer:

Reference 1D:(11202)

Answer:

B.ol{T

c.ad1

DT

D.ad

Out of the following options, identify a compound sentence.

A.Although Simran loves football and Amit loves cricket but neither loves
hockey.

B.Simran loves football and Amit loves cricket.
C.While loving football, Simran loves tennis too.

D.Simran only loves football.

B.Simran loves football and Amit loves cricket.

IR BTl
74, 56, 89, 92, 68 & 35

A.89
B.75
C.69

D.96

C.69

"G Tue” g1 Wit HIUTT U= SIS 3Me?

A TIETHH

B.HI

C.UIRed
D.Aifear

D.Aifear



Reference ID:(11238) R SIft Iiver Wi FagH @t quf &
5, 11, 20, 43, 82,

A.135
B.147
C.155

D.169

Answer: D.169

Reference ID:(11237)  WTdil fadiedn @ dd il T ARy od faaidr 318, AMER Jobiar 6hd
3l

8,9.5,10.5, 14, 17, 20.5

A7
B.9.5
C.10.5

D.14

Answer: C.10.5

Reference 1D:(10969) Choose the option with the best prepositional phrase to complete the given
sentence:

| have salt every day as | feel too much is bad for one’s health.

A.by all means
B.at a price
C.in moderation

D.in excessively

Answer: C.in moderation

Reference ID:(11222) 23 T 2019 il freTsh T AIfSId Araf—eT sex-vMd fUae Ridegasd
HIT Ydaied] HRAH Alearedl ders, STeTol A0TSR A1d i,

A.STUATY TR, UL faeet
B.3TIUATY faerd!, Su+Ty o
C.3EALY Hg, STIUALH ekt



Answer: D.3TATATY HIABTT, TITATY kit

Reference ID:(10981) R Gmﬂ gy SIS foral.

Answer: A.E"‘TITIﬁ

Reference ID:(11218) XTSI 3MTURI FIGRITY WU (TTSITHY) A BIc &d 2019 BRI
HERTYTHEIT PIUTT RIGRIA SATANSI detl?

Aol
B.H&s

C AR
D. AR

Answer: C.AMTYR

Reference ID:(10983)  Reprdt SIFT 41
......... BIUTRT JTRITT UbR FgUTS had dTa,

A SR
B. HTATIIR

Answer: D.Q_nlﬁw

Reference ID(11750)  @rei feerear shamered, T2 HIOTc il Iser?

*:]%B?



Answer:

Reference ID:(10984)  J&Id aradTal YR il

Answer: C.Igad ared

Reference ID:(11203)  WKIAUD! hIUTAT TUH AosHE W BIaiald o (Hegider) 2019 dt 3RfHe
ICRINSEN IV

INGEERS ]
B.&icrehd feriel

C. Il & WRHy
D.g a1 gicit

Answer: A.%)a-s‘ Fﬂ'c&\‘:[

Reference ID:(11204)  Idil X STIOT SURFAT &=1Hed fUugr urofl QRaq $for ot faksrrt
refieR ciedl dRANT A /g i,

ATRTR
RIRGRE]



C.gidT
D TfelR

Answer: ATRER

Reference 1D:(11213) mmm 3RY URCHER Hdid Ugd IRIG UGHH JH1-d
?
AT Hidl
B. U q&oT
C.3R=0T Sl

DAGGIGEIEERI

Answer: A.:ﬁ_s{ ﬁﬁﬂ

Reference ID:(10989) U fohamucel U&R 3.
o} STuaTgaE e
APcd
B.HTdH (D

C.IH
BABIES

Answer: B.HWW

Reference 1D:(10952) Choose the option that has the correct spelling.

A.Pausteurization
B.Pasteurigation
C.Pasteurization

D.Pasterization

Answer: C.Pasteurization



Reference ID:(11240)  g=dldidl, GHMERIPS "x" U Bld. THT UGDHH "X" HgH 10% U ¥Rl bl
T GO AEHT SN UATAT 20% U WRGT dhell AR SHTURE ThT
TEHH IARd U 25% U9 WSl dhdl. Yac! ghMERIDS ATl gHHI
270 U Rredier Afedl. r=ar ghMaed gRdrdia fabdl U gld?

A.200

B.800

C.400

D.500

Answer: D.500

Reference ID:(10995)  3{Hdhdaid T da- .
JIIRURGHH IR bl R T e aR 7°T RS bl

A.ITRAFHHL IR ghal dR T Xeqiar YT ARE D14,

B.3TRUFSGHE IR gl dR T eIk ° TR D14

C.IRUFGH IR ghdll aR T WeGTaR ¥° ARS D1

D.IWURAGHY IR ghdl R T Ysd[aR YdT AR D14

Answer: B.STRURAGHH IR gl ok T WeGTaR ° RS Th Y.

Reference ID:(11232)  daid IO Yo gIi<a qaTd sist 45 99 3. T guigal i<l aaran
PR iSeliedl AT dos=al gaTedl IR Ue gidl. ok dsid 101 GerTm g
g g sy 3R Sclia:

A.34 9N, 11 94
B.35dH, 10 9§
C.36 a4, 9 qy
D.40 9y, 5 94

Answer: C.36 atf 9 G'Ef



Reference 1D:(11244)

Answer:

Reference 1D:(11210)

Answer:

Reference 1D:(11227)

Answer:

Reference 1D:(11209)

20 faemdf sraciean aaniaeta TTftrarear wiame 2 fagmai-n udet 100 o1
AT, 3 1 Ut X 10T FHesTal S1foT STl TRIERT 40 Bicht. Fqut avifen
IRIR] BT 317572

A.40
B.45
C.50

D.35

A40

URA- 3icfer fguefta snamy, sifRrsdy 19 dt foel gRIgT AY maford
S I gra:

Tt feciedT ATS Uil Hiesolgdd 31T 1 TOT feeiedT U3 3R <.
5DEF6*14BMASJ#HLO@PTU2RQ

Riat Aieuiigdia wiFER sneia Treid Ureats! 9r 3 ARy ter aRe
3{Ted 0T Ao T ¢ TR i, TTRI Yaifeid THeel U BHIvT 311g?

ATA#HJI
B.6*:4B
C.14:MA

D.HL:@P

ATA#I

TuSIAA S Hroret favmm=it d&fa g [Aeramardt A 2019 A UTH
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3{TET?

A Hge
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C.Rd&dt
D.ATTa T

Answer: B.dgld Hﬁ

Reference ID:(10980) & SIFT IR SIIS2TeG foral.

A TTER3N
B.3{TYJUMTGR
C. I

D. 3JYBUMTEH]

Answer: D.3UYBUMIEH]

Reference ID:(10998)  favaiTa Teqd @quaqd! A fdhal Ha-THIA Hed = UTd 960 818 daR
BV ¥ UTAT 1 HEUIdTd?

ATHIRY
B.dRd¥xU
C.3eH1d

D.UaNT

Answer: ALHGRY

Reference ID:(11201)  JaId d1eTd GaiATdId 3 AR fHael.
DTe! HIE WA B  GRaSUd ARTSH DI GRIAAT?

A FHUIBTAR 3T3dT TS0
B.SleaTd TToft 4ot
C.URYR HI0!



D.TTe/es ITaul

Answer: A DHUTBTAR TSI TS0

Reference ID:(10978)  faaiedr Wsgirerq favgrd 2rsg st

A SR
B.HHI

c.feam

D.HYH

Answer: c.foum

Reference ID:(11206) SO 3fegf, g e, Tt Weliata! HIVIAT 2019 TNHTHT AAGR

AGTFRRTR
CRIISRICIE
C.3Hat

D TRIEISTG

Answer: C.3m3t

Reference ID:(11220)  SHARI 2019 A&, YRATAT Ud YU HERIPHE THTH-211 =0T HIeTQR-
_ BHMETE [AHNT SgYTeH &

ATTER
B.§lGds

C.qBR
D.dddHles

Answer: C.dodullyR



Reference ID:(10990)  HHIIHR fohaTdGr=al aig U] a8 &

Answer: D.i‘laa

Reference 1D:(10959) Choose the appropriate collective noun to complete the sentence:

found their way into the camp site.

A.A colony of ants
B.A herd of musicians
C.A crowd of cubs

D.A sloth of bears

Answer: D.A sloth of bears

Reference ID:(11224)  HERTETHA Wicilade! Hivrd féaToll IaTfed et a1 Shefr < faa
QT 3MTg?

Answer: A.@FI'IVR

Reference ID:(10979)  faoiedr Wegirerq favgnd wrsg i,
LA |} (5 E—
A SMIHRME
B.3=l

C.HMY
D.gRfra



Answer:

Reference 1D:(11242)

Answer:

Reference 1D:(10963)

Answer:

Reference 1D:(11246)

Answer:

C.HHY

30 fhHI 3R HTUTATHTS!, SBUTAT AU 2 I ST ARTAT. SR 30T
T oF UIC hell, TR Tl Sf-eTUal 1 a1 HH! de dRle. SReUrl 97 B
3Mg?

A.8 fodiara

B.5 foHl/dr

c.4 fediamg

D.7 feaia™

B.5 foHtag

Choose the appropriate articles for the given sentence:

teachers had late lunch as the meeting lasted
longer than ___ hour.

AA, an, a
B.The, the, a
C.The, a, an

D.A, the, an

C.The, a, an

A, B 3HTfOI C § 3:4:5 I UIRIHL ddU[dh DHRdld. AT daueiasia
QRATATAT TdbaR I TUNTR 6:5:4 3Tg. SR B 8T A U&T 250 30T 3Hfdd dHHad
3T R THU HHTS P,

A.7500

B.6999

C.4575

D.7250

D.7250



Reference ID:(11245) X U1 Ak Y T Hekilell 40% e Uebl I fashl delt, 1Y A ot o Z
1 forr=aT Haitall 40% TR fadsett S1for Ract z A g1 diad X 91 40%
TR faeett. a1 dqul ufshamed X =1 diet fdvar Tl TadharR] fad emg?

A.70%
B.62.5%
C.57.6%

D.55%

Answer: C.57.6%

Reference ID:(11231) &< YT 99 GG GTAT IR USUET IR g8 SIRd 3MTg. UM auf-aR
HI-Td I GRIGAT FATAT fAUCTUET 12 A SR 3¥d. TR HITd & 99
HIal.

A.36 94

B.46 dY

C.16 dY

D.76 9Y

Answer: D.76 a'sf

Reference ID:(11211)  gRATUME T&T MasU[eh HfUDRY Moitd Yo T YRAMHd Ufgedrd ‘BdaR

N

3 d IgUIed $S hal?

A TTdard
B.WRIGIEIG

C.I=UMH
D. 3{dTdl

Answer: C.I[=UH



Reference 1D:(10993)

Answer:

Reference 1D:(11236)

Answer:

Reference ID:(10976)

Answer:

Reference 1D:(11243)

JaId AT sy faRsuTen v fAaer.
3wy

A TG

B.&g

C. [0SR
D.AdSd

AFGHA!

15 3R 2012 AT REAR dl R 11 S 2013 Asit HI0 fad sre?

AFHYIR
B.IR=dR

C AR
D.TMAR

A TR

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

My friend is a down-to-earth person.

A.very practical
B.lives on the ground floor
C.very sad

D.very mischievous

A.very practical

Uh WATG 24 YhaHe 200 HIe YTGdl. AT 97 B g2

A.20 fHdiam
B.25 fhHl/aN™
C.27.5 oA

D.30 fhH/ag



Answer:

Reference 1D:(10954)

Answer:

Reference ID:(10975)

Answer:

Reference 1D:(11215)

Answer:

D.30 fpdia™

Choose the appropriate option with the correct punctuation marks.

A.Vinod said why don’t you join our college.
B.Why do you not join our college asked Vinod.
C.Vinod said, “Why don’t you join our college?”

D.Vinod was asking why don’t you join our college?

C.Vinod said, “Why don’t you join our college?”

Choose the correct form of tense for the given sentence:

How long you French?

A.are, learnt
B.have, been learning
C.had, learning

D.was, learned

B.have, been learning
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